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The inverse does work

for appropriate functions
and, sometimes, the Fourier Transform of a function is not in the same set as the original function, but let's forget about this
since we do not know a decent theory of integration
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w = 2mv
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The uncertainty relation is a consequence of the general fact that anything
narrow in one space is wide in the transform space and vice versa. So if
you are a 45 kg weakling and are taunted by a 270 kg bully, just ask him
to step into momentum space!

Ramamurti Shankar
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